67 ( 2)
(1) AB=AD, AC=AE D & =
BC=DE TH A C L ZEHLIE T,

(2) DB=EC,DC=EB M & ¥, LDCB=/EBC &5 L #FEA L Iy,

(3) BEDETLACB=4DCB, AC=DC D & =
AB=DB L 7% C & %IEHAE &,

(4) AB//ED, AB=ED M & I BC=DC & 725 C & #3EAW &,
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(1) AABC £ AADE IZEWT
RE LY  AB=AD,
AC=AE,
ZBAC=ZDAE (3£38)
o TZBLEZDRDAN TN ZTHZE L LD TAABC=AADE
x$6 9 AiAIFZE L LD T BC=DE

(2) ADCB & AEBCIZHWT
RE &Y  DB=EC,
DC=EB
i BC (I3
FoT=Z@NENnTNE L L D TADCB=AEBC
ST BHAIEZE L LD T LDCB=LERC

(3) AACB £ ADCBIZHEWT
RELY Z/ ACB=ZDCB,
AC=DC,
W BC (348
FOoTZBLEZDRDAN TN ZTHZE L LD TAACB=ADCB
Y HAIEZE L LD T AB=DB

(4) AABC £ AEDC IZEWT
RE LY  AB=ED
TITHODEEAIZZE L LD T Z ABC=ZEDC
Z/BAC=ZDEC
FoT—BLZOWHDAN TN ZHZE L LD TAABC=AEDC
Y HBAIEZE L LD T BC=DC
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